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1R EX BF EBH 1% M
2 INE fBER BF kol 6% N
3 &L BT zF E8H 6% )]
4 FHEF DR zF E8H 6% )]
5 8L X BF E8H 6% )]
6 Mk e zF EBH 6% %
1728 & zF E8H 7% M
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1
2 i FK zF EBH 8% N2
3 FEE BEX BF EBH 6% b4
4B Hv zF EBH 6% b4
5 ki S BF ko] 7% N2
6 FER FiK xF it Ti% N2
1iEE B BF EBH 8% N2
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1
2 B0 BRI zF Fif 8% N3
3FE BRZERK BF EBH 8% N2
4 18H Fil5 BF -d=Fiz Ti% N2
5 B2 $HN xF ol Ti% N2
6 — %t ## xF ol 8i% N2
7T BE xF -d=Fi3 Ti% 1M
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1
2 Nk A BF -d=Fi3 6i% 1M
3 W) & BF ol Ti% N2
4 BKX Fh xF -d=Fi3 Ti% N2
5 AIA EF BF EBH U N2
6 8HF VI417 xF EBH 8% N3
7% EE BF A 8% N2
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1
2 Bk FH zF A 1% N5
3 Rk = zF EBH 8% N3
4 TriE ¥ zF EBH 9% i\
5#%/0 58 BF ko] 8% N3
6 ILT &KX BF E8H 9% N3
7Nt HBIE zF E8H 9% N3




